n clasical physies S= F 0 = 3 (fmbensy, Hubtivg, cord

w
I
N - (S3>= E ot ¥+ (- B )5ty - % (e 0 4,20
= Fi cor 6

(gx> " .
md>= e |+a> + e'? 1% 12> =

= % [ woe o]« e, [Lieo-Lin]:

g ) & e & _ 1‘?‘& r
ﬁ[cos + et hnwl ]\ﬂ‘>+ z[cos.i e ’1“31\")

Provabi\i do wweaiyve Wz e \ex> ik
Yo  ghate \WD

- 2 . 2
e*'l‘): \("')’*\V\.>\= \ _-i_-‘-i (&%*e‘&,‘{“g)‘ o

1 & e RN v
2 (Mz'\'e ﬁhg)(ﬁﬁz-\-e ’iﬁu-i)

sowaplex cou‘juaad-e

: & 28 T T DA n A g A ) e
0d 2 a2 ¢ mE (e ) -

2c0 ¢

J|
R -
tvi [F

(1 + 26 covep)

Py = L&M= | & (em? - e ? 1,8 3\

-
PERE ...
= (A — %ud &05\93

- % £
{Sy>= "S" Pmo + (- "i) Pusis "2"-.5,(“- Jkiubcow) o
I

! -+ (’—t) :‘l,: (1- $ubecorep) = 5 %ubeony

: (&a>= X Kb giny , exp.ee&_ed Jro
clatsical predicHows



. ‘NPOW‘“QM—" Pr‘o P-ef‘t'u O{' C!\A.:j q,uqu.*v a4
. _ state ‘ \'e  cau be v i G Ph <cf +o
a \;\\Me Lactor ets {whare Sis
) ;
awd  veal  mumber so dhat |eifi=2)
akek widliowst Chqua(‘uﬂ au:l weasurable
proper dies ot dlus gtate

l+y>= = Wad- F\*%) - Y- —1‘1-;\1-%>* i\-r%)
OI“‘

; el LR it % THY ““‘a>- L +2> "'— \-2>
B Uy AR S ERRD A paa
L ame Probabi\ig. \-t-a): %l‘t%}'\' .:-l-_?-\ D)
1 3 -:- 2 -—‘:- z- -!. t a \-s &
o ol Il [



== notation Lor guautuin statey

in>= mg (e3> + e‘? %‘in% \-2> explidi-e

wa

h = Wubeny v %i&e&;u\?:\‘i- 69 Cbut loua)

\ushad, we can Wwie Vvector CousponR urts
wr, tteu ag au elewet o+t a coluumn

1 = ub cory eon &
* n_= Aud fiue <=> i >= : 2
HE] we cau do e'' v
4l Sawe

&’r 1 uawl'u Wa 841&%

N

_4 Because 1225 4 basis Cousisds ot ou \3
‘wo  Vvecdovs awny quantuus  State  (u Qhis
baals Caw be ~ presouded as  a <wo-elavaud

coluw n -
ld> = e x>+ C_1-2> | <di= Ce {421+ O £-2]

; 2 c )
| SETTYA ( c+) |22 (0) T tezre)
| = \-2>= (?) adrin

{43 = (1 0)
Inver product -2l (0 6)

Ldld>=  (ef cf) (' g*

Coluwn

) 2 C:_Qj- -+ C_‘l_‘_: ‘c_g.\z* ‘C_\z:‘l

\ .
l4%xD = ‘E (tg)«-_‘l-_‘:?-. -2 (~XD= % \-r%>-_"";"\-2)

f_ ov = \/,‘- /43

_' Lo en- (M)

| text= (% Yg) ==Y -Vg)
\ 2 \[3

lig>= E\«-%}i‘ﬁ-\-z) or \EYD= -/ﬁ)

i Lyl = (Yo @A)



_ Emw Ple, | whaok 5y we weed 1o coled ‘a-ke
. Laver Prod.uc,{- ot (-&-a\- x> !

0" wediod

gl =L arar e i.<.a|s) (&%= 1)

= 4 L ZeAedd> & L
GG 4‘-—'—'*-_.; &)= <‘*“” =3%:
l'Newl‘ wadleod
Y
+yl—x>= 'L*'-‘-> A e )
' {ral-x, 2 G (_\/ﬁ w2 s
: Exawple 2: worve convenient adge bra_
| g Liows => ( N: L[N, 1.
@ | - g leos Zlnd o (): (\@) L‘%)‘é
’ 13 l«-x) l s

in aew i £

* fd> = (:'j) avfl \P): (Ej}
: 1¥D = C‘&\J-)-r C?\ P),_ cd (’Zj) s c?(ea':) =

| & ( Ca: +Cp &
| Cia. +e?@- Cyz= LA\
C‘-@=4FW>



